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4 - 2 = 6 - 2 = 

5 - 2 = 

7 - 3 = 8 - 3 = 

8 -  5 = 3 

Rechne am Zahlenbrett!  

4 - 2 = 6 - 2 = 

5 - 2 = 

7 - 3 = 8 - 3 = 

8 -  5 = 3 

Rechne am Zahlenbrett!  
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6 - 1 = 9 - 4 = 

8 - 3 = 

10 - 5 = 5 - 0 = 

7 - 2 = 

6 - 1 = 9 - 4 = 

8 - 3 = 

10 - 5 = 5 - 0 = 

7 - 2 = 

www.lernmaterial.mathematikbegreifen.de 

www.lernmaterial.mathematikbegreifen.de 



7 - 3 = 7 - 4 = 

7 - 5 = 

7 - 6 = 7 - 2 = 

7 - 3 = 7 - 4 = 

7 - 5 = 

7 - 2 = 

7 -  4 = 3 

Male und Rechne am Zahlenbrett!  

7 - 6 = 

7 -  4 = 3 

Male und Rechne am Zahlenbrett!  
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9 - 2 = 9 - 1 = 

9 - 3 = 

9 - 0 = 9 - 5 = 

9 - 4 = 

9 - 2 = 9 - 1 = 

9 - 3 = 

9 - 0 = 9 - 5 = 

9 - 4 = 
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8 - 3 = 8 - 4 = 

8 - 5 = 

8 - 0 = 8 - 2 = 

8 - 6 = 

8 - 3 = 8 - 4 = 

8 - 5 = 

8 - 0 = 8 - 2 = 

8 - 6 = 
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6 - 2 = 6 - 1 = 

6 - 3 = 

6 - 0 = 6 - 5 = 

6 - 4 = 

6 - 2 = 6 - 1 = 

6 - 3 = 

6 - 0 = 6 - 5 = 

6 - 4 = 
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10 - 2 = 10 - 1 = 

10 - 3 = 

10 - 0 = 10 - 5 = 

10 - 4 = 

10 - 2 = 10 - 1 = 

10 - 3 = 

10 - 0 = 10 - 5 = 

10 - 4 = 
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10 - 9 = 10 - 6 = 

10 - 8 = 

10 - 7 = 10 - 5 = 

10 - 10 = 

10 - 9 = 10 - 6 = 

10 - 8 = 

10 - 7 = 10 - 5 = 

10 - 10 = 
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__ - __ = ___ 

__ - __ = ___ 

__ - __ = ___ 

__ - __ = ___ 

__ - __ = ___ 

__ - __ = ___ 

__ - __ = ___ 

__ - __ = ___ 

__ - __ = ___ 

__ - __ = ___ 

__ - __ = ___ 

__ - __ = ___ 
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8 - 5 = 5 - 5 = 

10 - 0 = 

7 - 2 = 9 - 5 = 

3 + 8 = 11 

Stell dir das Zwanzigerfeld  vor.  

Rechne! 

7 - 5 = 6 - 5 = 

6 - 1 = 

9 - 4 = 10 - 5 = 

8 - 3 = 

8 - 5 = 5 - 5 = 

10 - 0 = 

7 - 2 = 9 - 5 = 

3 + 8 = 11 

Stell dir das Zwanzigerfeld  vor.  

Rechne! 

7 - 5 = 6 - 5 = 

6 - 1 = 

9 - 4 = 10 - 5 = 

8 - 3 = 
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